| 12,50, 3)]

Input:
atom_vectors: InputlLayer
output: | [(?7, 50, 3)]
input: (7,50, 3)
1d_convl: ConvlD
output: | (7,50, 30)

Input:
merge 1 2b: Concatenate

(7,50, 30), (7,50, 30)]

output: (7,50, 60)

1d_skip_reduce: Conv1lD

Input:

output:

(7,50, 60)
(7,50, 30)

iput: | [(?,50,30)]
beta: InputLayer
output: | [(?7, 50, 30)]
4
input: | (?,50, 30)
1d conv2: ConvliD
output: | (7,50, 30)
input: | [(?,50,30),(?, 50, 30)]
merge12a: Concatenate
output: (7,50, 60)
\
input: | (7,350, 60)
ld_conv_reduce: ConvlD
output: | (7,30, 30)

e emlenn]
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convld residual O O 2: ConvlD

Input:

output:

(7,50, 30)
(7,50, 30)

O

4

add: Add

Input:

(7,50, 30), (7,50, 30)]

output:

(7,50, 30)

o . o input: | (7,50, 30)
BatchNormalization residual O O 1: BatchNormalization
output: | (?,50, 30)
input: | (7,50, 30)
relu residual O O 1: Activation
output: | (?, 350, 30)
input: | (7,50, 30)
convld residual O O 1: ConvlD
output: | (7,50, 30)
o _ o input: | (7,350, 30)
BatchNormalization residual 0 0 2: BatchNormalization
output: | (7,50, 30)
| o iput: | (7,350, 30)
relu_residual O O 2: Activation
output: | (7,50, 30)

4 |
| iput: | (7,50, 30) o | o input: | (7,50, 30)
convtorskip0O: Conv1D BatchNormalization_residual_1_0_1: BatchNormalization |
output: | (7,50, 30) output: | (7,50, 30)
Y 4
mput: | [(?7, 50, 30), (7, 50, 30)] input: | (?, 50, 30)
skip0: Add ’ relu residual 1 O 1: Activation K
output: (7,50, 30) output: | (7,50, 30)
4
| input: | (?, 50, 30)
convld residual 1 O 1: ConvlD
output: | (7, 50, 30)
4
| o | o input: | (7,50, 30)
BatchNormalization residual 1 0 2: BatchNormalization
output: | (7,50, 30)
4
| o input: | (7,50, 30)
relu residual 1 0 2: Activation
output: | (7,50, 30)
4
| iput: | (?, 50, 30)
convld_residual 1 0 2: ConvIlD
output: | (?, 50, 30)
4
input: | [(?, 50, 30), (?, 50, 30)]
add_1: Add P ( hi )
output: (7,50, 30)
| input: | (?,50, 30)
convforskipl: ConvlD
(7,50, 30)
imput: | [(?7, 50, 30), (7,50, 30)]
skipl: Add 3
output: (7,50, 30)

| o input: | (7,350, 30)
relu residual final 2: Activation
(7,50, 30)
| input: | (?,50, 30)
convld residual final 2: ConvlD
output: | (7,50, 30)

output: GlobalMaxPooling1 D

input: | [(?7, 50, 30), (?, 50, 30)]
add 2: Add ? ( ah )
output: (7,50, 30)
input: | (7, 50, 30)
conv final: Conv1D
output: | (7,50, 1)
input: | (7,50, 1)

(7, 1)

output:

o . . input: | (7,50, 30)
BatchNormalization residual final 1: BatchNormalization
output: | (?,50, 30)
input: | (7,50, 30)
relu residual final 1: Activation
output: | (7,30, 30)
4
iput: | (7,350, 30)
convld residual final 1: ConvlD
output: | (7,50, 30)
\ |
o . o input: | (?7, 50, 30)
BatchNormalization residual final 2: BatchNormalization
output: | (7,50, 30)

e e




